AHAISHD US

. 2025EE ANRIME

LICH

63,000

36,000

36,000

36,000

| 28,000

42,000

1
A

42,000

42,000 (3341 gA&

2|

169,000

Al

78,000

2. 439N
O HEHoA A=H

Y
r

<]
[

o

0 UZ[[
o ji o T
w
(#%]

B 40 40 g

[
o R E

(%4
= E

J

w
000 4

Ao 4T M
ia
0c

>

o
0=
k=l

o jow oy & 12

=4

{0

D EFEA HAFR DBz 295

1) K&, 33e9& &

=

=8 301-7511

\Jl\)“

& 082

70 WA= 33e9& & XA,
~6532-11
0253 02& 16X °':‘oH—’F—H|R
= Y=otAlH
HHGIEO0ILI SXE 21

o 063) 2

71-1679

ZUAl == HEAHIOIE
T eglE

o=

StEAl O

i )
[~]

12

33T OIBE AEA|

g’:l

HEE Do

N&E A==

of

Xl

F=AIJ| HEEHLICEH
AlE ELIOHL

0

=

S=E18 + 3=21Y =
ol MEE| (36,000) + St BHHIKI{4 2000))= 361,000
el USH :

= 361

247,000) +

L0008 =

2(36,000) +

= 339,000 X&st 22,0008 23

4 EHI0NE A
» MEAME D2 &4y

(0= {\J%‘A-IJP

¥ AFE J|2M0] X

ey

-
O us g 85
ot=

: 2025‘-5{ 28 32(8) ~ 28 8Y(E)MA (2&F 10Al ~ 2F 7AIILK)

oo
S| F_J

AE

2ot A AOIZ SESHAID| HEEHLICEH
«Ex)\l SHa Jeltf= 295 (& AFAIHH)
E NOIE &F Al MES FAID| HHELICH

£ MO Ex "‘—“é‘! ‘é‘:—! FIelE=
U2 & Dt LHOiE é_"é‘iﬁHxA!JI BrerLICh

38 B
Y=

|§ PN

SA0A HHE
20 A B

=1 o
2 2,

(BEHEI2

S sl

2= )

w5 Bl&LIC)
B 063) 271-1679

B2 WE 30

A

of

|
=




Py g

B R e 295
FEA GER SRR 22022

HE o= Sl s (T FE)

e
3{"' S
o M,

v opnpagoy
ﬂfﬁ&ﬁoﬁ%ﬂ\

ETOE S ol s 012t 5]
- = LY =3 b =] ME T
oA &3 63,0003 O
SO () 36,0008 0
a0 36,0008 o
= o SA(00) | i
o] |
LEZD) 28,0008 O
s= 0} 42,0008 ol
S= HHX 42,0008 ol
s K= (=) 36,0008 if
5t8 st A(0) 36,000 o
- HEE 36,000& ol
ot = -
3= A3E(0f) 42,0008 a
st 2K 42,0008 0
BHHF ) 42,0008 o

=012 AWt KHHO HOIEB(B OIS, ™
ot =95t gauc. O st=gy .




